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= 1 77, 350
FEIA (V-27) 650m3
= 1 145, 665
L 1T
= 1 418, 019
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m2 490 853. 1 418, 019
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W IE R 2k (B%A7) 0. Im3
= 1 393
LGy ) =hag (R B (BRA5))
m3 0.1 4,576 457
TEHRALER T
(EVv 707 £513E)
= 1 1,702
W IE R vk (B%A7) 0. 2m3
= 1 787
ALy ) =hag (R B (BRA5))
m3 0.2 4,576 915
EPE L
= 1 3,907, 197
B ST ¢
= 1 745, 976
B ST ¢
= 1 71, 394
BUGERRYGEE (K5 1)
= 1 71, 394
-9 - ELARims  Abkizhh )y 80w &




U1 JRRT AL TS R IR WT X1) 22 i P+ 2 B ML+ 5t X3 ]

HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
HiE R (FE L)
= 1 674, 582
Wi
= 1 4,653, 173
BTk X=giiv
= 1 1, 849, 839
R 5]
= 1 6,503, 012

- 10 - E s Abkei )7 &6 R



U1 JRRT AL TS R IR WT X1) 22 i P+ 2 B ML+ 5t X3 ]

HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
s
O X)
= 1 1,617, 521
JE T
= 1 1,391, 761
I L
= 1 384, 315
I
m3 150 1, 200 180, 000
b TE b Cash ERIRY L&) 150m3
(B~ iE )
= 1 152, 850
B 150m3
= 1 17, 850
FEIA (V-27) 150m3
= 1 33,615
2N
= 1 730, 119
PR (SR B -
m3 410 416. 4 170, 724
b S TE b Cash ERIRY L&) 450m3
(R &S ~BiYs)
= 1 458, 550
FEIA (V-27) 450m3
= 1 100, 845
EmFEE 1T
= 1 67, 392
IR AC =R
m2 160 421.2 67, 392
AP E T
= 1 209, 935

- 11 - E s Abkei )7 &6 R



U1 JRRT AL TS R IR WT X1) 22 i P+ 2 B ML+ 5t X3 ]

HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
K E C-40
m3 29 4, 842 140, 418
W H U Bh IR R t=10mm
m2 89 781. 1 69, 517
R
= 1 225, 760
AT
= 1 225, 760
HaAEY-h
m2 160 1,411 225, 760
B T HE
= 1 1,617, 521
B ST
= 1 249, 879
B ST
= 1 35, 697
BUGERRYGEE (5 1)
= 1 35, 697
HimE R (FE L)
= 1 214, 182
Wi
= 1 1, 867, 400
BTk X=giiv oy
= 1 674, 582
R 5]
= 1 2,541, 982

- 12 - E s Abkei )7 &6 R



